Functions - Day 4

Graphing Functions



Grr'aph the function.
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Graph the Function.
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Grr'aph the function.
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The Function rule W = I50c + 20,000 represents the total weight W,
in pounds, of a concrete mixer truck that carries ¢ cubic Feet of
concrete. IF the caPacH'y of the truck is about 200 £+°, what is a
reasonable graph of the function rule? 4
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The Function rule W = I0g + 500 represents the total weight W, in
Pounds, of a spa that contains g gallons of water. I the capacity of
the spa is about 250 3allonc:-, what is a reasonable ﬂraph of the

Lunction rule? .
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The Function rule W = I0g + 500 represents the total weight W, in
Pounds, of a spa that contains g gallons of water. IF the capacity of
the spa is about 250 ﬂalloncs, what is a reasonable ﬂraph of the

Lunction rule?
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Graph the Function.
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Grr'aph the function.
y=lxl—4
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Grr'aph the function.
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Grr'aph the function.
y= X°+ 1

X
-2

=
O

|
d

U — o
A




Homework:

Graphing Functions
worksheet






